1. Question: IR ST ST ffwfa 5H1w SNRIF© 2 F© AET?

A) 009
B) S35
C) bd0d
D) v»09

Answer: B) S5
Explanation: 5X1% I SR TN FIVH/FA0T eFeaa/ S TFA| - Af6 I Tfzrea

TR AP fo1f3e ey | - T, 2825w TE S0 N (@IS 1S WAAE SFNF (@ a6 anfIma
FEF| - SAOT SH ST ToAT FEF (A% TS| - FHTW (RS FAT I 7@ @

2. Question: AT @FH0 T SEITENTT RAFT?

A) SEae
B) few=eer
C) (W Y
D) wfaer (wat

Answer: C) (W3ury

Explanation: &S5 SETATES AT ‘Sfeelt (al | fofey “Jraia 3e0 s7hG “Siferery (vl wareny
TAAT AP FFTT FEF | OTF TS SFATIHSE 20 - - (FFT, - (Tl T3], - 7R, SiHag, - =&t
SIS, - SR Wit 33w |

3. Question: "SEFIFHFT SHAHT (FTF (F?
N RENZRICRIEHR

B) %64 CEITENT

C) WIWd IETERT

D) sydieTw g

Answer: B) a6 GEIFNETT

Explanation: - STETfAF SAAEIT (TS THGM Al - S6H F Svs8 S FAFTeT Ssrze
FEA| - B IRAT SFNN FoATH AFS T 77| - fofey (GFE 57 =W feratea| - ©id aAfow
S AT SFTICTA A "SI FES FIT (Sray)| - a8 BB (@ WiNF 7wy
HARRFSIR TFe 2@ Svay AT SHFE TF ™ |




4. Question: ' T N -

A) s
B) e
C) Jmesa
D) tifee

Answer: D) (fa&

Explanation: S (fATTT) - & BTATRET (TATBF A Bl ST —F1F) | - 3 A (T (0T SHIE
SR SAAPAT -SJHGATY 73) | {(SSTH T TG )N+ 51+ 3+ (1), Ve +51)

5. Question: (STSATIG (FT THH GB3?

A) T FHNET

B) ¥ &3 &Y

C) 73T &3 IFT

D) N3 FEET

Answer: B) 3@[@%%@?&

Explanation: ST FAHET: (T FHEATI NI AT NHTFS! TASE (1T T, SIS

TYTAGEH FAYTET TS I |

6. Question: Anatomy =F %%

A) ST

B) T¥ed
C) SN

D) nStafImwm
Answer: D) afIwy

Explanation: Anatomy *T&a 97 SE1ae=u-famyT, *NRaamT |

7. Question: (F1a FF [ Fefer I AfT6T a@E@=T?

A) (1= w1y
B) @R
C) 1%
D) o3 M



Answer: A) (N3 w15

Explanation: - IR MXSTE J161a 5% 5 | - fG61T W& W 7641 F@EF o 661 - 917 8

A2 @ STHT (STSAN) AT F D= |

8. Question: 'AHOT T TARF (FIA6?

A) ST
B) AT
C) Gifs
D) o1

Answer: D) 9

Explanation: SI%e1R @ SF oF | 955-- ¥, 77, &7, o], Toa 3oy THSE Awed
e ST | O[T~ AT ST 17 S, S, ST, WA, g, ST

9. Question: IHMGFF = NfH-f{Ew

A) 15T + 999
B) J15T + oFF
C)J= + 9"
D) I + ANGHF

Answer: A) T157 + 91F9

Explanation: 3, §, 5, ©, T TF(T 932 ©IF A& TR ATHE (FSE IAFE 5T, T, T (), W, T 2J|
T+ 9 = S+ [1F +30Q = (7518 F + 3T = S+3 P + SGFF = IBNCTT F + 5 = T+3 I[P + 7 =
TP

10. Question: "TFIE ST AP A J& I, T N (T ©F 2@ 5 93 SIS (FTNF
|

A) AN 515
B) TTIRAAI T
C) 354 JopmIa
D) TG OIS

Answer: A) IIGaY 3@1_4



Explanation: SIFF S T9qCRT GFAFIT

11. Question: "SIFFNA o FT TSI Foa1F TRFeTA?

A) FIPY-SAFYT
B) (=165t

C) smTssifeseT

D) FN]

Answer: B) (16519

Explanation: I XSS FAFNTE AAT0 I SIFINA T TFeA FE - WSS
frasrepE | aft SFIRe TAMET- 509 AE| AT TATS! ¥S- SIFATE T I Spod W FFI e
TR wiFenasa asspmd - 7i3Rla waae e |

12. Question: IRITSFF R IO F© TPH?

A) R

B) 8

C) @

D) w

Answer: B) 8

Explanation: 25T 9% IFHT IRAT FIES TNIF HAARFOIT Tgd Tgdl 29 $&d T60T3 A7 FH
AT 2% foefB: - AMaTgs, - I998 3 - AFaFa | (T IRATHEHT

13. Question: "FOTTGTT SHIZT FEF (I (TF?

A) E5W SEITMENT
B) STSTH TR

C) FTSI T 25
D) 369 SEITETI

Answer: A) T35 SETTETT
Explanation: - IFN67@ SEITENT (yvOb-3b»8) BaF BT S5 (Seld (216 =@ [dF63

FTOTTIICT ST SR FE |

14. Question: AT @06 IEF AFA \fA?



A)®
B)d
C)%
D)%

Answer: B) §

Explanation: S5 SR @ I SRIAaNT YT F=0 FAEMT 287 fefare
TFHFRAE G2 ST ©IsT FT T (F1F 3 |

15. Question: 917" Ft YT SATH?

A) s
B) qr=T
C) fawmfr
D) 3w

Answer: D) M3©
Explanation: « S5 fo 3311 « TT- - ko S5, - Ao IRaT SoAwysf @ - A Sosisf | « ;g
T TRHA SIS (MG 20 1 « TT- =1, &7, 917, 7, {1, 5, 917, 97, 47, 7, «fyy, 5, s, *fF, =, 9fs,

Y, SAfG, T, A1+ 16 IRAT SF5f (NG xS &1« FN- 3, 9177, Iy, 347, M, G, &, T, 2, &F,
Fu, 3, [, e, a1, 5, 571, 5, 21, R, ©F1 « Sefafucs, [t Soasysf aifafug |

16. Question: T FE(G M TTEAH RN SFH-Jg5 TeT?
A) SH8I-5553
B) S E-5dMR
C) SBaI-1S
D) 5589-555%

Answer: B) Y &R-525%

Explanation: ST, 5% 330 S IRIFEANS J@id ST S5 (W77

17. Question: FIGART (AT 04" FF0! (FH = qHw?

A) 9953
B) IHAJS
C) FaTFaT



D) Na1g3

Answer: A) 9953

Explanation: WY 3134 b® (TATF S FIFOI6 Nags = Ao | TG SIFEF (CTATF S
FIAEG S>8 WT T 27| 9% A SEARTT FfIo] FRATF FeNZuE 7 (7T TR

18. Question: STITEY & BF ST (FAG?

A)SZ+5T+ %

B) 26T + § Bl

C) (P16 77

D)5+ X

Answer: A) T2+ 53 + ¥

Explanation: STz (fA0T5) b Y (14 26X | } STRITST (FTE TREX 91) | @ 57 (FREF 714) | ©
57 (TREX FT) | {(S3F I F®) NIGA+I(T5P)} TIH: TRAT AFG T ASH |

19. Question: "TRIGSA!" ST SHLRT FE-

A) FE T
B) OTAW XTI 25
C) T AR

D) cifery areate orafe fed Fa1 7™
Answer: B) 534 *T5 35

Explanation: =6 1o F471 2@®

20. Question: 'TJAPT AAFTE T fotere -

A) 3T (TR
B) GO 25
C) FIfret 1%

D) SI&¥ BEIe

Answer: B) (NSCHAT RF

Explanation: - "M SaSTa = R Y57 SEOR | - af6 Fie (3 o235 J31re Hfas) - a7
FFTTFI e S0 HE| T2 ARG NP S (TFEH |



21. Question: IMPROVEMENT (Synonym)
A) Promotion

B) Advancement

C) Betterment

D) Preference A6 1foe 41 @@

Answer: B) Advancement

Explanation: =56 Jifed Fa71 2@®

22. Question: AMICABLE (Synonym)

A) Interesting

B) Loving

C) Affectionate

D) Friendly

Answer: D) Friendly

Explanation: Amicable (Adjective) English Meaning: Characterized by friendliness and absence
of discord

23. Question: Opposite word for LIABILITY:

A) Treasure

B) Debt

C) Property

D) Assets

Answer: B) Debt

Explanation: Liability - the state of being legally responsible for something. Opposite of liability -
asset, advantage, immunity.

24. Question: Opposite word for HATE:

A) Loathe
B) Abhor



C) Concern
D) Admire

Answer: D) Admire

Explanation: Hate 313 §¢1 F&T, Admire 31¥ Z1:5T F4T, Abhor 31% §¢1 F4T, Concern 31 ST,
Loathe 1 ef1 47|

25. Question: In each of the following questions, out of the four alternatives, choose the
one which can be substituted for the given words/sentence:- A song embodying religious
and sacred emotions

A) Lyric
B) Ode
C) Ballad
D) Hymn

Answer: D) Hymn

Explanation: - A religious song or poem of praise to God is called a hymn. - Usually it is sung
by chorus to express religious emotion. - Martin Luther’s “A Mighty Fortress Is Our God” and
Shelly’s “Hymn of Apollo” are some of the well known hymns in English.

26. Question: Time after twilight and before night -

A) Evening
B) Dawn
C) Eclipse
D) Dusk

Answer: D) Dusk

Explanation: Dusk(CﬂT&;ﬁ): The darker stage of twilight. Ex: Dusk was falling rapidly.

27. Question: Fill in the blanks in the following sentence by selecting the most
appropriate alternative from among the four choices given:- Parliamentary democracy
demands discipline and to the rules.

A) awareness

B) respectful
C) knowledge



D) adherence
Answer: D) adherence

Explanation: IIFG® and 95 9T noun (discipline) 3tz | ©12 and 45 &8 noun (adherence)
TE| A%IGT8 Y516 B adherence 2 &3 |

28. Question: Reason is the highest faculty on human by their creator.

A) entrusted
B) endowed
C) conferred
D) bestowed

Answer: B) endowed

Explanation: bestow (verb) on/upon: to give something as an honour or present. The George
Cross is a decoration that is bestowed upon/on British civilians for acts of great bravery.

29. Question: Rishan walks as if he lame.

A)is

B) had been
C) has

D) were

Answer: D) were

Explanation: As if / as though a3 & present indefinite tense A3 as if / as though a7 & past
indefinite/perfect tense T 432 be verb YT NITNT were |

30. Question: One of the four sentences given in each question is grammatically wrong.
That alternative is your answer:

A) Neither you nor | am in a sound position.

B) Your action is not in conformity with the law

C) He begged the favour of my granting him leave.

D) Laziness is detrimental for success.

Answer: The correct answer is:



C) He begged the favour of my granting him leave.

Explanation: SIf8& 3156 T@: Laziness is detrimental to success.

31. Question: One of the four sentences given in each question is grammatically wrong.
That alternative is your answer:

A) He has no desire for fame.

B) He has invited me for dinner.

C) He is too miserly in part with his money.

D) I intend going to Rajshahi.

Answer: C) He is too miserly in part with his money.

Explanation: 5% 16 2(3: | intend to go to Rajshahi

32. Question: Each of the following idioms is followed by some alternativeChoose the
one which best expresses its meaning :- To keep one’s head-

A) to save oneself

B) to be self respectful

C) none of these

D) to keep calm

Answer: D) to keep calm

Explanation: To keep one’s head (Phrase) English Meaning : Remain calm.

33. Question: To put the cart before the horse -

A) to offer a person what he cannot eat
B) to force a person to do something
C) to raise obstacle

D) to reverse the natural order of things

Answer: D) to reverse the natural order of things

Explanation: Put the cart before the horse (phrase of cart): reverse the proper order or
procedure of something.



34. Question: To read between the lines -

A) to concentrate

B) to suspect

C) to read carefully

D) to grasp the hidden meaning

Answer: D) to grasp the hidden meaning

Explanation: To read between the lines (Phrase) English Meaning: Look for or discover a
meaning that is implied rather than explicitly stated.

35. Question: In each of the following questions, a sentence has been given in Active (or
Passive) voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive (or Active) voice : | know him.

A) He is known by me.

B) He was known to me.

C) He has been known by me.
D) He is known to me.

Answer: D) He is known to me.

Explanation: Present indefinite tense A Active voice (¥@ Passive voice FJ1F faTs: Object o7
subjective form + am/is/are + 3 verb 99 past participle + by/to/with/in etc + subject a9 objective
form. A9 known a9 o9 SI9Y to I by/in/with 9|

36. Question: A lion may be helped even by a little mouse.

A) A little mouse may even help a lion.

B) Even a little mouse ought to help a lion.

C) A little mouse can even help a lion.

D) Even a little mouse may help a lion.

Answer: A) A little mouse may even help a lion.

Explanation: Even a little mouse may help a lion. This rewrite makes it immediately clear to the

reader who is doing what. The subject is doing the action.

37. Question: Choose the correctly spelt word:-



A) Liesure
B) Lesiure
C) Leasure
D) Leisure

Answer: D) Leisure

Explanation: Here, the Correctly spelt word is Leisure. Leisure (Noun): English Meaning: Time
when one is not working or occupied; free time. Bangla Meaning: SI9<17; S[95<|

38. Question: Choose the correctly spelt word:-

A) Superceed
B) Superseed
C) Supercede
D) Supersede

Answer: D) Supersede

Explanation: Here, the Correctly spelled word is Supersede. Supersede (Noun) English
Meaning: Take the place of (a person or thing previously in authority or use); supplant.

39. Question: Of the four alternatives given under each sentence, find the one that best
fits into the blank space :- The horror movie scared them out of their

A) funds
B) seats
C) lives
D) wits

Answer: B) seats

Explanation: T3 wits {6 IR | 'Out of one's wits' 97 7% Te1g fF6fTo|

40. Question: The people who carry a coffin at a funeral are called

A) undertakers
B) supporters
C) Mourners
D) pallbearers



Answer: D) pallbearers

Explanation: Pallbearers: a person who helps to carry a coffin at a funeral or who walks at the
side of the people carrying it. Source: Cambridge Dictionary

41. Question: (F1 AES TRATF S X (JTT FAET @ITHA b3, b 43R 38 FHAT [FST6T 7F?

A) ¥

B) 483

C) v90

D) 9o

Answer: B) 583

Explanation: 53, b, Y% 97 518 = 93| 93 92 5T ST 71T o801 (AR, AT (T 2010 Y5
BRI X (TS FRET R (T© R | OR, fftefT 12477 = 93 - 3 = 90|

42. Question: A @6 GNP F257?

A) DS

B) w4

C) ve

D) &»

Answer: C) b - (NfAF S22

Explanation: 5 = $X9x5© B9 = §X©X3ID LV = HXVXIS @D = SXED AT @ AWM S 9] €
ST RIGT Sa5 (FIAT 54T 97 ey 971 s[eank, ¢ @GN F2am|

43. Question: 936 AT vo) F(© J© TG ©YS (® ©© (RG] MW Fo?

A) v8o

B) w88

C) @83

D) w8y

Answer: C) 983

Explanation: If the number is x then WS - X = X - WoS or, IX = WS + vob or, X = 98Y



44. Question: F 8 ¥ aF@ AF0 FIS N T FI@ NG| F 9FT IO 20 [ F@ MNMEF| ¥ 9FT
PG FoIE PO TEE?

A) x¢ fae
B) 8o fa@
C) wc fora
D) wo fa
Answer: B) 8o fat

Explanation: ¥ 315 F00 M = (53%20)/(20-53) it = (53%20)/% ot = wo

45. Question: 936 IFOEH™@ET W J3F 39 | AT aod (FawT 1250 ISFNCIF 2@ a7 W=
FO7?

A) 30 51
B) 40 f361F
C) 60 fiG=
D) 50 51

Answer: B) 40 51

Explanation: & $f¥, ATCEET 73 = x NGF 432 WHf = 2x FGF | ITCEHET (FaHd = 2X X X =
2x2 éN®, 2x2 = 1250 AT, x2 = 625 A, x = 25 JodRk AFeEaoa 3 25 FieE a3 el 50 FeE|
46. Question: 76 xS (@ TR 72 TAF 2T 9B TR S 672

A) Sifafz® (@1
B) ST

C) R
D) EF (I

Answer: C) 31
Explanation: 736 WAfR® (F1E S8 53 SN 2T AF0E ATIHF N 7S (F1 JE|

47. Question: J@F (F4 (P W F I 37?2

INKIGIE
B) e
C) Fab1ef



D) 95
Answer: B) IioRcy

Explanation: 068 (3% (T71RT S A5 0|

48. Question: TG fAgS FTF TN 23TF & [AHa (FH 66 IE 777
A) 9367 oo TR TGS fod I1=a S

B) 9368 R A2 8 S@GS (F1 ITAHF 2 A2 8 IFGS (FNIF N

C) aFf6F 2 (F1T 8 9% IR AT R IR 3 e[ A N

D) a%foF foa (@1 a-1aoa fod (Ferd s

Answer: B) 9368 42 I12 3 JQGE (F1T ATAGH 42 2 3 AIGE (FIEF S

Explanation: 736 fagea fafb (1 FEH ST 273 fags 7216 S5 713 2o M|

49. Question: (F1 AGER IRSET Ae*MTS fAEH (FAG JET IF TH@A! Ags IFT T8 IE?

A)b:¢:8
B)v:g8:w
C)Sx:v:8
D)w:8:¢

Answer:B) b :8: v

Explanation: @1 fagmed sifegsi2= TE2+gfi2 O aF31a ¥ T =IGT S (FTas] af6 srfey
I I

50. Question: v, 3, 3 8 A7 bR TSP F©?

A) 8

B) :8

C) b

D) 5%

Answer: A) 8

Explanation: 59 ST MeF X TEI3 x x =9 x4 =>x=9x4/3 .. x =12



51. Question: f(x) =x3 + kx2 - 6x - 9; k A9 I9 $© (T f(3) = 0 3F?
A)1
B) -1
C)2
D)0

Answer: B) -1

Explanation: f(3)=0.". (3)3 +k(3)2-6x3-9=0=27+09k-18-9=0..k=0

52. Question: x >y 432 z < 0 I fIET @F@6 A3F?

A) xz>yz
B) x/z>yl/z
C)z/x<zly
D)xz<yz

Answer: A) xz > yz

Explanation: x> y........... (1)Z2<0..oue.... (2) (2) A2 (S, z TINE JTHP AT (1) (F z T S
PH(E, X2 <yz

53. Question: loga(m/n) = ?

A) loga m x logan

B) (Ff62 ¥

C) logam+ logan

D) loga m - logan

Answer: B) (F1af62 93 (None of the above)

Explanation: log (a/b) =loga-log b

54. Question: Ed (FTHG Faos TAT?

A) /e
B) Vo.©
C) 5o
D) o.9



Answer: B) o.@ (Square root of 0.3)

Explanation: V0.3 = 0.547, 1/3 = 0.333, 2/5 = 0.40

55. Question: f¥a @6 @A TAFIA?

A) ax2+bx +c =0

B) y2 = ax

C)y2=2x+7

D) x2+y2 = 16

Answer: D) x2+y2 = 16

Explanation: SIFET S, (a,b) (@ 932 T r 2 J@F TNFAT 2F, (x -a)2 + (y-b)2 = r2 JoHR
ST IATIAD J@F TN 2 |

56. Question: a-1/a=3 3, a3 + 1/a397 I9 F©7?
A)9

B) 18

C) 27

D) 36 =G qfes 1 7 @

Answer: The question has been canceled. No correct answer available.

Explanation: =6 Jifed Fa71 2@®

57. Question: a+b =7 & a2+b2 = 25 3 [AGF (FEMG ab 97 T 2@F?

A) (102 FF

B) 10

C)6

D) 12

Answer: B) 10

Explanation: a2+ b2 =25 = (a+b)2-2ab=25= (7)2-2ab=25= 49-2ab=25= 2ab =
24 .. ab=12

58. Question: %6 R AT 2@ 20 FIBE TEF 9316 T+ 2@ Famaid Tz Tafe @



30° 2 AT THel Fo?
A) 20N7 6@

B) 10V3 361"

C) 20 =

D) 20/\3 561

Answer: B) 103 51

Explanation: S%eT =[S 20 789/\3] = 20/V3 REE|

59. Question: 59(9/8)% 97 AA-
A) S

B) b5/r0

C) S/

D) S/ vo

Answer: B) SS/o

Explanation: 59(9/8)% = (¢&/8)% = @@/(8Xb00) =SS/ o

60. Question: 3x3 + 2 x2 - 21x - 20 FHGFT 9FT TRAYF T=-
A)x+2
B)x-2
C)x-1
D)x+1

Answer: A) x + 1

Explanation: x = -1 X, 3x3 + 2 x2 - 21x - 20 BT A9 0 EF| ©R x + 1 FABT aF0 TS|

61. Question: FFSTLH (IF FPISCIE ©FF ATH-TH S FeT 73~

A) 3303
B) 3G1ESN
C) (ofer

D) 2B1E@0

Answer: D) 3B1E@0



Explanation: 35E@06 2 AT RS G g0, T1ET T I AAFSE FETSOR (ASTNFA
THIE I TATHCER Ty SHT 973 (I DARF AT ICIAEG SGIF A 9F ST HIFF T
TGB! SAM-T71 FHT T S>bD ST RBIFEGS TP Jal AT 27|

62. Question: FAfCIT RS IR Y FE@F (FTH TE?

A) 5353
B) Sxo0
C) 5358
D) Sxo8

Answer: C) 53bS

Explanation: - @ (T 23S Sftel ST 4eif3 S208 ST TRV (STef FRCT JTSH THief
(T 37 I e FE TN ST FE |

63. Question: TSI CHEIIT IS AN (572

A) STTTETT

B) S&1sT

C) e

D) e

Answer: A) NTEIT

Explanation: SSIa I IRAT (I 95 J7 AT AW/ &7 1| IR A& ST 0¥ AAS S

@16 (216 I [FoE o] (@a- 3 , T@H, I5, TNos6, 5794, N, 6 2e5v| ISHF I
(O] fooeT G-RRICTR 3 NG 3 eA@u| NTST G-ual™ (T T e |

64. Question: SITESTeRT IRTWTT N Fob ©IFF] ©F TI®?

A)xfo
B)cfo
C)u o
D)8 o

Answer: B) ¢ f&

Explanation: IRTNCTA FZIF AT - T AT J@F N 20 AT IRTCR Jabal Jod 7
fO (AT 'sTerseTe gl ARATGT N (31 'STFFTE 32 6 70T §f6 FE@ GG S1RfG ©Fd11 IRTIWCTE




AR T fGORBATF 9 95 ST T2 TelF ©F e |

65. Question: IRAWCIT T4l STEFAT 3OO (FTINT?

A) TR
B) 5Id

C) 589

D) Hfawsd

Answer: A) I3

Explanation: 74l sI@Fe 2460 85: a0t A 4 ARANTT AFf6 oAfe S Afere1gFe -5 - T3y
fEYfer <Tva SPTIT T2 STOT-STA, THE-TAT 3 (NHAT A off TATST I 3 JIT8 ARHN ST AR FGF
Fze sifeite e a IR

66. Question: STISIFFT (FIF ATAFIF (SIGNTETF A2

A) (CGFa%
B) $HIONT

C) yean
D) R

Answer: A) (6%

Explanation: SRITXTA (Sel@ Fe1 2 SIS | IRTIGCTH NI FATPIG! U $19e A (SRR
PR TRAPTAN (TN | ST (N AT ST FN5 FAFO1| PR A THOE SJHAWT 3 5TH1E
AT FAF TARHI G =15 |

67. Question: FRTACCTA 1R ReTsT (3@ RO [Ro1 3@ T Fa71 77?
A) ©5-5o-09

B) b-%0-019

C) ©-55-09

D) S-5%-019

Answer: B) b-50-09

Explanation: 009 STETH b A Sfd® SIRHTF W73 [F13! Ren (3@ [Ke= Ko
TRPIFACT T @O FTIE (SROMEET) T Y009 T FE (00> W ARG HHre)



68. Question: L% U @FNT TAf*re 37?

A) BT
B) GESIT
C) fufr

D) &

Answer: A) BIST
Explanation: - $» b\ ST 35795 T4 J[EFF TN F9F A6© 2T 0%l Widl (F ISR Jfoa Saw a1
ISTARI6T I 23|

69. Question: (MCTE AN T AF (FF e (=2

A) ©TFT
B) ST&IF
C) o™
D) srenfaan

Answer: B) m:s?ra;q'
Explanation: - (WCTR X% 83 1% (fAsfiar&ia) {31518 (SeTa sonfayy siafse |

70. Question: @G IRAT @ S (G55 AW TI?

A) S99
B) %933
C) Ro0b
D) 2000

Answer: B) %933

Explanation: 34 3, 000- IR (656 “BIGIN e F | (12 TR So (Y 48 A©FF TP
TR, CHRGAE IRTT STCed I SI" ATSEHS (56 F6 (A |

71. Question: IRATWCTT STSIT el (FTAG?

A) I

B) (51

C) F1
D) F1OW



Answer: A) I

Explanation: - IRNTCTE TSI 7T - =TT - IRTTOCTH SO BeT - FIIN - IRATICT STo1F TS -
J9 Source: Banglapedia

72. Question: (SSFTAT TFEGF ) FGT TF TCHTH (FINT Do T7?

A) BT
B) FTIMIQ
C) fa=y

D) 3 26 T FaT T@®
Answer: A) BI3|

Explanation: 736 Jifee $a7 2@®

73. Question: fA(IF TIEE IC ANAGF (S6 (FAG?

A)EU

B) FIFA
C) NATO
D) WTO

Answer: D) WTO (World Trade Organization)

Explanation: I 45T (39 $& TG | EU Political and Economic and not the largest. The
three major international economic organizations are the World Bank, the International Monetary
Fund (IMF), and the World Trade Organization (WTO). 1) IMF and World Bank are not in the
options. 2) EU itself is a member of WTO 3) EU is not even the largest economy in the world. As
the United States (by GDP) and China by (PPP) are ahead of them.

74. Question: FAEEHG (A& & ANIZT FEF?
A) FIe]

B) famgys

C) ¢onfers ot

D) f&a™ 25

Answer: D) f&amm6



Explanation: Alfred Nobel, Swedish chemist, engineer, and industrialist who invented dynamite
and other more powerful explosives and who also founded the Nobel Prizes.

75. Question: @ @ (@6 G-7 97 5o 7F?
A) ST

B) J& TS

C)m™

D) S&teA
Answer: D) 5305«

Explanation: The G7 (or Group of Seven) is an organisation made up of the world's seven
largest so-called advanced economies: - Canada, - France, - Germany, - Italy, - Japan, - The
United Kingdom and - the United States.

76. Question: 2SF 2H (7 (FAG?

A) 998

B) STy

C) 3T

D) aeis

Answer: C) AT

Explanation: XIS 20 (7 - eI | ETE (77 — ST RASTR FCTE (0T - R 35157
AT (T — FIATOTI

77. Question: (@FRF (TNRNZAT (@432

A) ST
B) SRS

C) TeTarst
D) g/ =9fG I FaT TA®
Answer: D) @619

Explanation: G Jifed 91 2@®

78. Question: 3F (@FCHY Af6fPwo 22



A) S LS ST
B) Sy NI
C) S ST
D) Sbbe© NI

Answer: A) S YS HIET (A) 1861 STICT

Explanation: - SRSAMIGR ASIEF (RAF TG Sbbve S (@O Sfed] FE |

79. Question: T TFf¥FF M3y @ Mfere z3?

A) XY I

B) S SISG
C)s

D) o fStg

Answer: D) So o7

Explanation: - So fS0197 g M1 O3S =11feie 231 - $58% MEA So G019 fem:y F9s
wofb AT TFfeTe TG NAIEFIF (FFTTF J2e 27|

80. Question: FIFA 3fsf$e ¥ F@?

A) Sdot

B) v938

C) 558

D) v»o08

Answer: B) 538 (1924)

Explanation: - FIFA (Fédération Internationale de Football Association) X HEAET &P 53|

81. Question: FABEIET TR FNI?

A) SAIITGT
B) SIeTSToS]
C) SIPTAE™
D) fr1ws

Answer: B) SiefTala1



Explanation: - f3 &% : SRS ST - TTAE : S FINTE AT - S :
CAFIT T - AT QNSNS A - [ STOI : TSI FGETAT |

82. Question: FNINF AT f[FAF FT FE A -

A) OO FIIAR FEF

B) TRE G NFIR I

C) HfHE FII9R FEF

D) SfHE NHIAR AfeTwhol J2 FE

Answer: C) SIfH® YII91R &

Explanation: - a3 fa@r™ ST S 30% 912 FIHT-OR-IHRG | - I {157 I@T ST
(AT TT O FIIA-TR-THARG TENHG T FILA-GR-THRG S AH0S T |

83. Question: I FTH IHE®F AT OM© IRTECT FIGEFT SFod Ffo I 7G?

A) oo FE1 IE

B) TREIES F9e] IS
C) ST AS (JG IE
D) ferarefa fersifsie 2@

Answer: C) a1 I3 (05 I (Temperature will increase significantly)

Explanation: i 2155 3&® A AFel6 IRTECR FIGF 8FoF Hfo- ey fFuye 2d|

84. Question: I 1y frowea S -

A) o1 8 o
B) ®TT & 5751
C) ®1 8 faer
D) ®TT 8 3T

Answer: C) O 8 fat@e
Explanation: + 52 31 SO1&F YTQ TEEF S BT (T 50579 1 TR 307l T =7 & (2 IO

§Toq TN@ FF 41Q JET| + (I- FIN] T (F1% 2 19 3 TEd TFF 41g| + ot 26 op 8
TIF (OF) RF Q| * NI 4N T L% BT AT2 0% 731 Fiffe N |



85. Question: Egfe =T 8@ S g [gs 4=E -

A) TN 3F
B) ¥3 ¥ =¥
C) @f=x
D) 932 =¥

Answer: A) 37 3T

Explanation: a2 sIfbx Sad (MSITH Tl TTIR ANAT (IG5 TIATE IR ST fFRET (S
forET| SRGR (77 F @fed M FeTE @E: 9706 TE aF6 @pfes Ged 9T FEFH 416
@S (THTFTe ©ff), MIE AF | TN AN IF6 T Y6 I I, ©N (SIEHE MAHF Svely
AGAT 37 e AR TF 93 ©1F TS R =121fe e A |

86. Question: FXT Gffe e (A FfoFa IR @T J?

A) ST J3
B) faGr af
C) S5 q
D) I3 A

Answer: B) f351 3

Explanation: & (Gfefe T I SO FTeTET &efs I GRS (51351 GNifers I7=fS
FIT© 2T, NIFTE P FTENET Tar3 9F2 IFM© FjI7© 2| BF 7 TIFe 8 (T 3 TR
& AR (BlfS e ATSho % I+ F732e 27| R (BFRTSTET T T =T TS M@ Ser
T, T 3 S A f6afb T:-97 J¥F TNF 3EFEA 56T AF |

87. Question: STEGY (@15T 9@ (T 076 oy 9 © 2(ET-

A) a @15 TR fFodt 78 FF|
S)ECEGICER R CRIGIgERT

C) A (@15 T (@ PR OF 1Al Iia 3|
D) fofer STei 2maTE @& (AET a @157 27|

Answer: B) 5[ SIeTE 4 (15T 271 (B)
Explanation: SIS (X [:5]® 257 2F0NEE Ae1F 3¢ (A6, THFT 8 GRRoTeI ¥[TER 1%

AFT TRE F, T ST FEOF T{A (@FE IF, 9@ SREGH @157 I 27| B ey A=Ea
S A (@ o= (3



88. Question: AFF3ATE a=-

A) TRPNST BS5te e (B35 SRS

B) 23 f31ts g T e

C) 23317 3@ o (F & (A

D) 2fsd I= MR (e RIS Hewe

Answer: A) 3fsd foste e o5y @

Explanation: S3fe G197 T S5 I415Y R AANSHITE F72F| 3 T@hoto T I& L3 T Pfow
e fICTY Y0 (I T S1fEe F71 23|

89. Question: ST A0 beifo IRAI FT IET?

A) FF6F (TGT

B) &

C) (s¥fex (st

D) f%Gffa

Answer: D) febf&fF

Explanation: fb{$fF 97 IMAGF @Ee: [K2S04.A12(S04)3.24H20] (SRR T&6
AT 0. 38 e Afel) AT SEPT 4TS o1 7 A |

90. Question: (53] {EF IRF (1F FM?

A) FSEH

B) N9 HE@ N
C) ST fersy
D) af&s

Answer: D) af&s

Explanation: - 5 af&s 371 (G7] S@F 9419 IRF | 92 FTF FINS (G7] TEF SRAN VAR @
PE AR A>rE |

91. Question: ST (Tsunami) F1H J(TT-

A) SRR SIS e
B) gfe
C) b4 8 ST SNl



D) s[4 OFICTH S

Answer: D) s34 ST ©f5=5

Explanation: &1 (Tsunami) ‘ST ST =<7 | IRAF a7 S ‘(ST (GG’ | S5TF T q04t T ey
(FT S SIPCHE, SRR 331 IR SuNAF TSTF B SETRN @R ] 77 A1 |
92. Question: F© IR IF 7 YT YA@Q (73 NI?

A) 90 I=F

B) & I%d

C) vo =T

D) ay 9=

Answer: A) 9o g

Explanation: Halley's orbit period is, on average, 76 Earth years. This corresponds to an orbital
circumference around the Sun of about 7.6 billion miles (12.2 billion kilometers). The period
varies from appearance to appearance because of the gravitational effects of the planets

93. Question: SfF FIEOI AT FE (FAL?

A) a1 ST ST

B) Ao ST AT
C) SifEte MRETE ST T

D) *nfa¥ 16
Answer: B) M$fes S 71T

Explanation: ST d3eN& e 3@+ F300 MfF (6 Tafe I F7 27|

94. Question: 017 TreTE HHEFT AfTFel [{@fFe 23?
A) w1

B) =GIFTe

C) TREE

D) 1A

Answer: C) FREET

Explanation: Plants deficient in sulphur are small and spindly with short and slender stalks,



their growth is retarded, maturity in cereals is delayed, nodulation in legumes may be poor and
nitrogen-fixation reduced, fruits often do not mature fully and remain light-green in color, forages
contain an undesirably wide N:S ratio and thus have lower nutritive value

95. Question: FIFARIST FAN (FA6?

A) TFheS SIS
B) 33T

C) (T&TeT

D) s Mife

Answer: B) 31

Explanation: - (59 <& 1 QT ST 920 1 I {30 (T 59 (& 1 AN S5 T30
fols 0T 2 A1 A7 ©1 FIATST SFIenfel 7 1 I

96. Question: ¥ *f{@Y M3y @62

A) e
B) S G
C) ba I
D) ¢ S

Answer: C) 5

Explanation: - 3f$3%d ¢ 3 Sfes:d =A@ {6 97 S 7 afa@ fmasy Mfere 271 - 203
ST 27 A& MaeE afesmws 2@ TR o ad (RN (@EoIE) |

97. Question: (FIF AT = SIS TLETH FH?

A) TTerF

B) o s
C) ©ae e
D) I s

Answer: B) 3 s (Hard substance)

Explanation: &= (5T TIGE (I SO M 993 TIEE I IIAT T | SET, T4 T 26T
AfFRe 20 A ATl SR e = (F1 AR (@R, 5o T 7 (I 8T (O 1R AT 7|




98. Question: (F1d TP TN MFFANS T SHG IEHTI?

INGEIEE]
B) AR
C) fE=ifser
D) (&

Answer: D) (3@« (Renin)

Explanation: (e 7% A (FHAE TRGNE e F@| I TF300 7% N6 I |

99. Question: o IfF AT aFo9 FAfG*T fF2TTe-

A) wrffaF
B) I@AAw
C)3fa

D) smr{fw

Answer: A) wrffa®

Explanation: F5@e 232 aFew swffam g sifaees| fofer st amk RIS sgfas v Ssrrsa
FEA|

100. Question: ) B AFAF Sels AT FI?

A) fififere

B) afsia

C) MR

D) 2fferey

Answer: A) fffere

Explanation: TFfeFeNE 5w FNOH P 2001 AfNGF Ao ot 271 I (¥ 9F 7 e
STTT S 57 T A% 92 ST HS STRE BT A |



